
Operations with Duodecimal Numbers (A)

Calculate each answer.

645412
+ 582312

569712
− 385812

1A6512
+ 208312

4ABB12
+ 3A6712

626212
− 5B7A12

B32012
× 6112

B08612
− 43612

585612
× 7412

537712
+ 9B5712

131BA12
− 984712

8912)17169612 1164712
− 797612

952212
+ 82B812

1612)11BB9012 618712
+ 34BA12

773B12
× B912

9812)8B761012 B6112
+ 387B12

30B512
+ 2A1112

966912
+ 35B212
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Operations with Duodecimal Numbers (A) Answers

Calculate each answer.

645412
+ 582312
1007712

569712
− 385812

1A3B12

1A6512
+ 208312

3B2812

4ABB12
+ 3A6712

896612

626212
− 5B7A12

2A412

B32012
× 6112

58632012

B08612
− 43612
A85012

585612
× 7412

35A04012

537712
+ 9B5712
1331212

131BA12
− 984712

557312

8912)17169612

222A12
1164712

− 797612
589112

952212
+ 82B812
1581A12

1612)11BB9012

93BA12
618712

+ 34BA12
968512

773B12
× B912

75510312

9812)8B761012

B17312
B6112

+ 387B12
482012

30B512
+ 2A1112

5B0612

966912
+ 35B212
1105B12
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